Chapter 7.1, Problem 16E

Let F and G be functions from the set of all real numbers to itself. Define new functions F - G:
R — Rand G -F:R — Rasfollows: For all x € R,

(F = G)(¥) = F(x) = G(x)
(G =F)¥) =G(X) - F(x)
Does F - G = G - F? Explain.

Step 1

Consider the functions F and G are defined from real numbers to itself.

Define the product f_G;-m s and G_F-B >R as,
(F-G)(x)=F(x)-G(x)
(G-F)(x)=G(x)-F(x)

The objective does f _¢; = G — ', explain.

-G
F

We know that the subtraction of real numbers does not obey the Abelian property.
That is,

F(x)-G(x)=2G(x)-F(x)

(F —G}!:.T:] 3 (G' - F](\) forallxe R

Therefore, [F_G+G-F
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